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I. Choose the correct answers 
 
1. Who was the famous ruler of a dynasty known as Guptas?     ( ) 
 

(a) Chandragupta  (b) Samudragupta  (c) Ashoka  (d) Sidhartha 
 
2. To which language does the term ‘Prashasti’ belong?     ( ) 
 

(a) English   (b) Hindi   (c) Sanskrit  (d) Tamil 
 
3. What was the meaning of Kumar-amatya?       ( ) 
 

(a) Minister  (b) Chief banker  (c) Scribe  (d) Judicial officer 
 
4. Who wrote the biography of Harshavardhana?      ( ) 
 

(a) Surender Sharma (b) Amir Khusro (c) Banbhatta (d) None of these 
 
5. Who tried to cross Narmada to march into Deccan?      ( ) 
 

(a) Harshavardhana  (b) Banbhatta (c) Sidhartha  (d) Ashoka 
 
6. Which was the capital of Pallavas and Chalukyas?      ( ) 

(a) Kanchipurm  (b) Delhi   (c) Agra  (d) Lucknow 
 
7. Who was the best ruler of Chalukyas?        ( ) 
 

(a) Pulakeshin I (b) Pulakeshin II (c) Pulakeshin III  (d) None of these 
 
8. Who composed Prayag Prashasti?        ( ) 
 

(a) Ravikirti  (b) Harisena   (c) Kalidasa  (d) None of these 
 
9. What was the Indian name given to Greeks and Romans?     ( ) 
 

(a) Yadavs  (b) Yavanas   (c) Javas  (d) All of these 
 
10. Who found the precious ring which the king had given to Sakuntala?   ( ) 
 

(a) Fisherman (b) Businessmen  (c) Brahmins  (d) All of these 
 
11. Day to day changes in the atmosphere are known as?     ( ) 
 

(a) Weather  (b) Vegetation  (c) Mausum  (d) None of these 
 
 
 
 
 



12. What is the duration of cold season in India?      ( ) 
 

(a) March to May    (b) October to November  

(c) December to February   (d) All of these 

 
13. During the winter season the sun rays?       ( ) 
 

(a) fall directly    (b) don’t fall directly   

(c) both (a) and (b)    (d) none of these 

 
14. During the summer season         ( ) 
 

(a) temperature becomes very low (b) temperature becomes very high 
 
(c) heavy rainfalls    (d) none of these 

 
15. What do moisture laden winds strike to cause rainfall?     ( ) 
 

(a) River   (b) Sea   (c) Mountain  (d) All of these 
 
16. Agriculture in India is dependent on        ( ) 
 

(a) rains   (b) drought   (c) winds  (d) all of these 
  
17. From which language is the word monsoon taken?     ( ) 
 

(a) Latin  (b) Arabic   (c) English  (d) None of these 
 
18. What would happen if the monsoons are weak in a year?     ( ) 
 

(a) Water level will go-down  (b) Crops will be affected   
 
(c) Summer will be longer   (d) All of these 

 
19. Which state has freezing cold during the winter season in India?    ( ) 
    
 (a) Rajasthan    (b) Bihar  

(c) Madhya Pradesh   (d) Jammu and Kashmir 

 
20. Due to which condition India has a wide range of natural vegetation?   ( ) 
  

(a) Climatic condition   (b) Rainy condition   

(c) Summer condition   (d) Winter condition 


